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obooobooobooboooboobooobooooooooooooboobooboobo0oooboooDn
gobooooooobooobboooooobooboobooobboobobooobooobboobooooDoOoD
gbooobooboboooboooooboooboooboooobooboboooboboobboooobooon
obobooboobooooboooboobooobooooobooobooooobooooan DDDDD
O000000000D00D0O00 couldD wasableto 00O0D0O0ODODOODOO0O000OO0O0OO00OOO
gbobooboooobooboooobooooobooboooon

1 ODodgooobooood

1.1 0O0oood

1. We can’t measure it. O OIt’s difficult to estimate. D00 0000000000000 OOOOO0O
0000000000000 oOoo0o0D0mMOo0000o0oooDo00D o000 obOooOoOooOooa

2. could000000000O00OOODOO0OOOODOOUwas (were) abletoO0000O
(03)000Hecoulddoit. 0MOO0O00D00D00D0000O00O0O0MOOOOOOODOODOO
00000o0o0o0ooO0o00ooO0o0oooO0o0ooooooooo

3. that O (it isknown that.. 00)00000000000O0OO00O00O0OO00OOOO0OOOOOOOO
oo00DoO0o00oDoOO000D that ODODDODOOODOOOOODODODOOODODODOOO

4. 0000000that 00000 (nesting) 00000000000 0OOOOOOOO
0 O 0 These authors describe that their results were calculated assuming that the systematic error
is negligible.
0 0O O As these authors describe, their results were calculated assuming that the systematic error
is negligible.

5. 000000000000 00O0000D000DOD0U0DOOO00O0Ooo0UooODoDOoOooDoOoon
O000ooOoOOoOOoOoOOOODODOODODODODODOOOOOOOOOOOOOO
0 0O O She analyzed the optical data, while the X-ray data were processed by her collaborators.
0 O O The optical data were analyzed by her, while the X-ray data by her collaborators.

6. JoobbooobbooubbuoooobbboobbbbooUobbboooobLbboon
oooood
0 O O Using equation (1), as shown in figure 2, we have calculated the absorption coefficient.
000 In figure 2, we show the absorption coefficient calculated using equation (1).

7. 00000000000000DOOOO0 whichOOOOOOODOOOOOOOOOODOOOO
ooooooo
00O They discovered hard X-ray emission from several absorbed AGNs, which implies that...



0000000000000 00000000000000000000000000000 as shown
infigure4. 0000000000 OCO0O00O0O000OODOOOODOOOOOOOOOOOOOOOOO
ooooo

000 We estimated power density spectra of the object using the optical light curve by Smith et
al. (2004), as shown in Figure 3. 000 0O Figure 3 0 estimated 000 000000000000
000 Figure 3 shows power density spectra of the object, which we estimated using the optical
light curve by Smith et al. (2004). 0O O 00O As shown in Figure 3, we calculated power density
spectra of the object using...

(O 5) We note here that..., It should be remarked that..., 0000000000000 000O0OO
O000o00oobooDthat DO0ODOOOOO0O0ODOOOOOOODOOOOOOOOODDOD
oo ..y bobbbooogo
gogoobbobbooooobo

OO0000 for OODO

.000D0000 for 00000000 DOOOO00ODO0O0000DOO00DODOOFor an elephant,

the noseislong. 0000000000 OO0OOODOOO An elephant has a long nose. D0 0000
O00000oD for00000D00000O0O for00000000000DODODOQOOOfor example,
for the sake of, for the first time, for the purpose of, for this reason,for a long time, wait for, look
for, ask for, except for,..., 0O For 000000000 DO0OO0O0O0OODOOODOODOOOOODOO
ooono

search A for B, examine A for B, analyze A for B, survey A for B, (O 5) correct A for B 0 00O

0000000000000 00M0O0000000000000D00000000 0T searched a
number of references for that report. 000000000 00DO00ODOO0ODOOODOOOOOOOOO

0 00 0O We examined the data for various systematic errors. 0 00 0 We analyzed the X-ray spectra
of this SNR for Fe-K and Fe-L emission lines. 000 (0 5)00000000000000000O0OO
apply dead-time corrections to the data 0 0 0 O O O correct the data for dead time 0O 0 00O O

oo0ooooooooogo

0..00000000000 as for (as to) ..., with regard to, asregards .. D0 00000000
0O00oo0d0moooooooodooooooooooooooooooooooooooon
go0oodUo0ooooOoUoUoOooDooOUoOoDooUOUoU0oDOooDOoOooDoDOooDOooOooDoooD
goooooooon

000 As for the CPU of this system, we employ two Pentium-5s.

000 We construct the CPU of this system employing two Pentium-5’s. 0 00O O The CPU of
this system is composed of two Pentium-5’s. 0 0 0O Two Pentium-5’s conssitute the CPU of this
system 0 0O O

ggbobobooogobon

1.until (til) O by 00 0000000000000 0000O0O0ODO0000 wtilD0OO0OO0OOO

3.

000000000000D000000000 byOOO0Oremain, stay 0000000000 untild
arrive, finish 000000000000 byOOQOOOO

0 00O You may stay outside until sunset. 000000000 OO OO You must come back by
sunset. 10000000000 0OODOOOO

0000000000000 00O000000O0000000000O00O0UO0O0O (intensive
quantity) 0000000 0highO lowO00O000000000000000000000O0 (ex-
tensive quantity) 0 0 Olarge O small D0 000000000000 O Ohigh temperature emission,
a low luminosity AGN, a large area counter, a high pressue system (00 0) 0000000000
0000000 D0Olarge pressure gas 0 00000 OO O the pressure is large 000000000
oooooooooboo

000000 Odependency 0000 dependence 00O Odependency O M(00D0)000MMOOO
0o000oo00oo0o0oooO0ooodUoooo0ooooooooooDoOoooooooooOog
ooooooooooog
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1.4

000000000000 O0000QD0OrelationshipdOd0ODO relation 0000000000000
0000 Orelatioinship 0 0000000000000 (QOOOOO0OO)0000O0O0OOOOOO
gboooobooooboooooon

inter- 0 intra- 00 0000000O0O0O0O0O0O0O international O interstellar 000 00000O0O0O
inter+o o DO000O0O0o o 00000000000 DOO0DOO0O0 intra+000000M0IOO0OO
00000000 0000000 intragalacticmedium 00000000000 O0O0OO0OOOOOO
000000000 intersellar medium 00000000 ODO intergalactic medium 0000 OO
0000000000000 D00000000000000 D 0000004 intracluster medium O
oopoooooo

. (O 2) ambiguous O 0 uncertain O inaccurate 00000 OO0 Duncertain 000000000000
000000000O0ambiguous 0000000 MOOOOODOOOOOOOODODDOOOOOO
oooooo@moooooboOgooooooobooooooo0ooooooDoooooDoobDo
goooooooooooobO0o0ooo0ooobooooooboooogooooooooooobooboo

.(05) 0000000000000 00U0O00000 betweenDOOOOOOOOOOOO among
00000 DOODO0O0O00O0O0OD0O0 eachothertDODOOODOODOO oneanother 10 O0ODOODO
gooooooboobooooooboooooao
0 0O O There is some misunderstanding between you and I.

0 00 Among the 20 stars she studied, this particular one is by far the brightest.

. (O 5)doubt O suspect 00000000000 OO0OO0OOOOOOOOOOOOdoubt .. ODO...
00o0o0oooooo0o0m..00D0000D000D0D0000000000D000DDO0O0 suspect
.. 0ooo0o..000000@oooo..000opooooo00o0ooooDooogooooo
goooooboboooooobuooobob oo obbooooooboo
00 0T doubt she will come tomorrow.

00 0OT suspect she will not come tomorrow.

. (O 6) apply 00O O 0O O We applied the 1/4 window option. 0000000000 Dapply 0000
0000000000000 apply this method to the research 00 000000000000 (O
000000)0000000000000We employed the 1/4 window option. 00000000
00000000000 This rule does not apply to thiscase. (000000000000 O0OOO
0)oooooooo

. (O 6) mention 0 00000000 as mentioned in section 2 00 Omention 0000000000
mention 00000 OO0 O0ODO0OO0ODOOOOCOOOOOOOOOOOOOOOOOOOOOOD
0000000000000 DOO00D00O0Omentioned 0000 O O described, explained 0 00O
oooooooooo

She He (DOD0)0000O0ODODOOO

. 0000000 00ooDoOoO000o0ooo000o0ooooo00oo0oDoooo0OoooOooDooooo
0o0oo0ooooo0oooooo0ooooooDoo0ooooooUOooooooooooDooooon
go0o0d0oooo0odooooo0o0oooooo0UoooDooOooUooooDoooOooOooDoon
gooooooooboooooooooooooo
000 In order to study the Fe-K emission from broad line radio galaxies, we observed 10 repre-
sentative broad line radio galaxies with ASCA. 000 00O 10 representative objects of this class O
oooooogo
OO0 The first observation was done in 2004 October 20, and the second on 2004 December 11.
The object brightened by a factor of 2.5 between the two observations. 00 0 0 O 0 O between the
two observations 0 meanwhile (or meantime) 000000000000
0O O O Among nearby red giant stars, this one is probably the best known star. D0 OO 00O star
Oobject 00O0O0ODODOOOODODO

.000o000ooo00ooooooooooooogg
0 00O This experiment uses a proportional counter as the main detector, which is filled with Xenon
to a pressure of 1.2 atm.
000 As the main detector, this experiment uses a proportional counter which is filled with Xenon
to a pressure of 1.2 atm.



3.

2.1

oobooooOoboooboobooooobooooobooooobooboobooobooooon
0000000 that OOODOOODOOOOOODOODOOOODOOOODOOOOO

.(03) 0000000000 whichOOOOthat 0000000000 DOO0OOOODOOOOOO

g00oDooOoooooOooooooooooooooo

This paper described an X-ray source which appears pointlike.

This paper described an X-ray source that appears pointlike.
oo moooobbboddoooooooooooooooo
00000 (that) 000 (D0O0O0O0UOO)00000O0OCOOO.O0000OOOOOOOOO
00oooooooooooooDOo0oooooooOOoOoOoOoDOOoOOoOoOODOOOOOOOOgo
goooooooo0oooo0ooooooo0ooooUoooOUooDooUooDoOoooDooUoDo
00ooooooooboooooobooooooooooooo that OOODOODOOOODOMO...
gooo..gggooooobbddddooooooooobbbbodoooobobnooo
0000000 00D0O0000oO000ooO0o00oDoooooooDdthat 0O0O0O0OO0OO

000000000000 (ooooon)

however, nevertheless, although, on the other hand, in contrast 0 0 0000000 ODOOOO0OO
go0doooooo0ooooooo0oUoOooooooDoOOoOoO0UO0ooooOoOoooDoooOooon
O00000o000ooo00ooooooDoooooooooooooon

.000000000 first O firstof al 00000000 COCOO next d asanextstep 00000

gbobogboboobooboboboobobobobobobobobobooooobobon

0000000000 Moreover, Furthermore, In addition, Therefore, Consequently, Accordingly,
However, On the other hand, In contrast, Nevertheless, (O 3) Then, Next, 0000000000
000000ooooooOooooDoooO0oO0ooDooOoOoUooDoOoOoOooooooooOooon
000000000000 00000DOO0D000D0000 In contrast to the preceding argument, ..
0 0 O1In addition to the above theoretical prediction, As a result of the discussion presented so far,
O00d000theOODOODOODODOODOO

. 0000000000000 Ooo00o000o00o0O000OU0o000o0LOoOooOUOoOD (O

0000000000000ooO0oO0)00oUooo0o0oooooOoooooUoooooom

0000011000 12000000000A4000 singlecolumn 0000000000000
gbobooblo+£s 000000000000 0DO0O0OOOOOOOOO1O00000000O
gbooooboooo

goooobogogd
gd

.000000000D0D000008250000000 (countable) 000000 (uncountable) OO

O0000000000000000D0a+0000the+0000D0OO000DOD0ODOthe+0000OD
googobooobobobboboooooooooboobooobooooboobooboonboa
oooopoobo0ooboobobobooooboooobDuobobthe+toooooooooDO

0000000000000 0000000000000 theODOOODOODOODOOOO aOd0O
0000000000000 0000O0D0000C00O0DO00D0O00theDODOMM OO0 oMmQOQ
coJ00OOUOOODUOODUOOOthe 00IODOODDOODO(D3)0D00U0O0UOtheOOODO
000MmodoooodoooodoooooooooooooDooooooooooDooooon
O O O Yesterday, I met a professor and his younger brogher. The professor is famous as a philoso-
pher,... 00000000000 OODOO0ODOO00DOOOthe00D0O00O00OO HeOOOOODOO
0000D00000D0000000 The professor 100000000

aldtheJOODOOOOOODocoO000OOoo000DO0ODOODOOOODOODOOOOODOO
0000000000oO000DooOo000Dooo0oDoooo0oDoOooooDoOOn
OO00Do youkeep adog? 000000000 O OOOOO

Yes, the dog is kept indoor. 000000 O 0000000000



4.

10.

2.2

000000000 0000oooooooooDoooOo00ooDoooooooooooooon
000000 theDOOODOODOO

0 O 0 They used the Subaru telescope.

0 00O The origin of life has always been an important part of his research.

other(s) O the other(s) 00O DOUO0U0OD0OOOtheother(s) 00000000 D0OODOOOOOO
0000000 3)000000000000000000Oother(s) D0D0D0O0OOOOODO (O
0)ooooooooo

000 Tom, Susie, and Kate attended the meeting. Susie gave a talk, while the others did not. O
O0000the others 0 Tom 0 Kate 0000000000000 0ODOthedOOO

000 While Susie gave a talk, others from the same group did not. 000000000000
0000000000000 0o000o00oD00DO0ooDOoodDtheDODOOO

000 Some drank beer, while the others whysky. OO0 0000000000000 OCOOOOOO
000000000000 0the 000O000DOO00O0ODOOOOOODOOOODOOOOOODOO
ooooooooooooooog

000000000000 00D00000D0ODO0O0OOdthe number of stars 00 O 0O O O [ a number
of stars 0D D0O0O0O0the DDODOO0DD0DOODODOODODOOODDOODODOOODODOOO
nature(l][]l]l] Nature) 0 MO0 00000000000 OOthenatwre 000000000000
0 00 The nature of these phenomena is of keen interest to us.

another 0 Jan+other 000000000000 O0D0ODOODOOODQD an another, the another 00 O
000000000000 0000D0DOeither DO0OD0OOOOODODOODOOODO the either person O
O000000theOOOOODOboth OODO0OODO theD OOO O Both the boy and his mother went
toschool. 00000000 0O0OOOthe D0DDOOOODOOOODOOOOODOO

Figure 1, equation (2), Table 3, NGC 4151, Sco X-1 0000000000000 0O0OOtheO0OO
O000000000000000 source A, region B, experiment 4, sample 5, 0000000000
00000000000 theDOOOOOODOOODOSource A, Region B, Experiment 4, Sample
5,00 000000000000C0COO0000 the Crab nebura, the Andromeda galaxy O O
OO0theDOODOO

oooooooooboobDDtheD0O000O0O0DODO the Suzaku satellite, the Subaru telescope,
the Chandra operation team 0 0000000000000 O000O00O theOOOOO

O0000000Othe HXD, the ASCAGISOOO0OO0OtheDODODODODODODODO HXD-DE, GIS-AE,
XIs-1OoooOoooooooooootheooooooO

gogoooo

O000o0ooopoobooUdA)B,,,,,andZ00000000000CCO0OO0O0OO0OODOOO
O00andO00000and0000000DOOO0O0ODOOOOODOOOOODOODOOO

respectively 00 00 0000000000000 DOOO0OO0O0OODOO0OMOOOOODOO0O0OO
00000000000000O0O000 {a,b,c,,,andz} O {A,B,C,..,andZ} O000a0 AOb
0B,.,z02Z00000000000000000000DOQOOrespectively 0000

000 Tom and Susie have apples and oranges, respectively. 0000000000000 O0O0O0O
O0OO0Orespectively 000 D0DD0O000OO00O0DOO0ODOOOODODOO0ODOOOODODOOOOO
gooooooooboood

000 Tom has apples while Susie has oranges, respectively.

00000000000 0000000000Orespectively 0000

bothOMAODOBOODODOOOOOODODODOOOOOOODODODODOOOOODODOOOO00000oooog
gooooooooooooooooooooooooog

0 0O O The detector assembly contains both a preamplifier and a shaping amplifier. 0000000
00000000000 o0oodooooDOoDoooododbethdOOOOO

000 In this phoswich configutation, both scintillators are viewed by a single phototube. 0 0 0O O
000ooo pPMTOOOOOOOOOOOOO0ODOOOOOOOODOOO bothOOOOO



10.

11.

12.

13.

0000000000000 000000Both willdo.O0OODOOEitherwilldo.OOOOOOOONO
000000000000 O00DODO0OYou can get to the station from either route. 0 0O O O both
route 0000000000 DODO0ODOOO0O00O0O000O0OODDOOOOOODODODDODOODboth ends,
either ends 0 O O O O Oeither end, either side 00 00000000 MOOOOOOOOOODOOO
There are shops on either side of the street.

O000000O0ObothAand BOOOOeither Aor BOODODODOOOOOOOODAandBODODODO
O00000Aor BOODODMOODODOODODOODOOOOODOT did not eat or drink for half a day.
00 00did not eat and drink OO0 00O O

dead time, high volatage, large area, 0 0000000000000 O0OODOOOODOOODOOODOO
000ooDooooooooooooooooooooooooon

000 The detector has a large area.

0000 We use a large-area detector.

0000000000000 000000000000all0 bothDOOOODODODODODODODOODOO
goooo

O000Tdon’t know all of them. 000 0000000000000 00OO0MIOOOOOOI don'’t
know any of them. O I know none of them.

0 00O You don’t need both books, doyou? 00000000 0OODOODOOOOOOOOOODOO
00000MOO00000000 You dont’ need either book, do you ?

therefore, however, (0 5) then 00 0000000000000 0D0O0O0U0OOOOOOOOOOOO
00000000000 0000000000000000000000 0 dtherfored certainly O
0000oooooooooooooooooooooo00o0000oooooooomoogon
OO00Otherfore 0000, 000;000000000000 therefore d and hence 00000000
0 O O Being very difficult, the experiment therefore takes a long time.
0 O O This experiment is very difficult, therefore it takes a long time.

.0oooom..0oo0oobo0o.0bogoo0o0oo00ooOo000oobDOoooDo0DO We

decided to do the experiment again, applying higher voltages to the detector. Because the detector
gain was found tobe toolow. D00 OO00000O00O0OOBecause 0000000 OO0ODOOOO
O0D0000O0O0DOO0DOO0DOdThis is because the detector gain was .... OO0OO0O0OO0OO
because 0000 0000000000000 OOOODODOOOODOOOOO0OOODOOOO”Why
were you absent yesterday?” ”Because I was somewhat sick.” 0000000000 why ODOO0O
goooooooooboooooooo

000d0mMmoooobooooooooobooo0.0000doddddn While, the second observation
was a great success.. 10 0000000000000 whileDOODOODOODODODOODOODOD
O0000000OOwhereas 00000000 O0OODOWhile JOOOOIn contrast, On the other
hand, On the contrary, (O 5) Meanwhile, 000000 WhileOOOOOO

O 0 OT went to school, while he was asleep. 0 0 0O O 0O While he was asleep, I went to school.

(02) 0000000000000 0000000OODbecause0000 since000000000O0O
OD0O0000D00OI don’t like him because he is impolite. OO0 O0ODOMMOOOOOOOOOODO
gooooboboooboooobooooboboobbobooooooDmoobooobooboboooDboo
gbbooobooobooooobooboobooooboobboobobooobbo0ob0boddsineed
0000000000000000 (ambiguity) 000000

(02)same 00000000 theOOOM...00000...00000as 00000 She is the same
lady as I met last month. OO0 . 000000 Oas (the) same as.. 0000000000000
0000 the same as.. 0 in the same way as .. 0 000

0 0O O We processed new data in the same way as the old data. 0 0 00 We processed new data the
same as the old data. OO0 OOOO0O0OOO

(02)0.000 (00)00000000outside (inside) of .. 0000000000000 out-
iside/inseide 00O 00000of D0O0O0O00O0O OD0D0O0OO0OOUODOOOOOOOOOOO You
may find a post office inside that building. O O O O inside of that building OO0 OO0



14.

15.

16.

17.

2.3

2.4

(O 2) semicolon (;) O colon ()0 0000000 O00DOOOODOOOODNODOOOODOO
00000000000 comma (,), semicolon, colon, period () 000000000000 OO red:
PN, black: MOS1, breen: MOS2 0000000000 Ored // PN, black // MOSI, green O
gooobobboooooboooobobboooo

(02)0000000000000000000D0000000000 The transparency of this
crystal is higher than that of ordinary glasses. 0 0 O transparency 00000000000 O0O00O
0000 thatof 00O OD0ODO0OD0DOODOODOODOOODOOODOOOOOODOOOOOOOO
0000000000000 0000000000000000000D0 QO This crystal has a higher
transparency than ordinary glasses. D0 Othat of 0000000 (0OOOOO0OOOOOO)DOO
00000000000 than ordinary glasses have 0 have 0000000000 OOOOODODO
doddooboboooooobooooobooooooon

(05)0..000000000000000000...,too0 also0000000O00O0OOO either
ooooooooooo

0 O 0 This answer is incorrect, too. 0 0 O O This answer is also incorrect. O O O This answer is
not correct, either.

(0 6) consistent 0 MO0 D00000MOO0O00D00D0000D00D000O00Oconsistent 10000
0000000000000 O0Oalmost (0000 nearly) consistent 1 0000000000000
O000D00000D0OOmarginally consistent 0 D00 OOD0OO0OOOOO

ggbooobod

. 00000000 (vt) 0000 (viyDOOOODOODOOOOOOODOOOOOOODOOOOOO

00000000000 0000000000000OOsee, hear,eat 000 (DO0O0O0O0OOO)O
000000000000 000000000O0Olsten (00O00OOOO),look (00O00)000O0O
00000000DOO000000D000 look at a picture, listentome OO0 0O 0at 0 toO OO0
oooooogoo

mention, discuss, describe, reach, resemble, approach (O 3) thank, (O 5)follow, explain 0000 O
gdoboobooooobooooouobooouooobooon

0 00 mention to the method, discuss about the result, describe on details, she resembles to her
mother, reach to the station 0000000000000 0OO (O 5) enter, report 000000
0000000000000 Oreport the result (00 0) OO 0O report on the result (000 )00
ooo

occur, remain, originate, .. 00 000000000 O0OD0OOO0O0O0O0O0O0O0O0OOOOODODOOOO
goooooooo

000 This emission is originated from relativistic electrons.

000 This emission originates from relativistic electrons.

000 An X-ray bust was occurred on that occasion.

000 An X-ray bust occurred on that occasion.

. (O 5) a clue to the mystery, a solution to a problem, conform to his advice, apply this method to

the problem, 000 00to 00000000 DO0OO0O0ODOOOOOODOO

0 O O This discovery provides a clue to the problem.

0 O 0 This discovery provides a clue to solve the problem. OO0 0000 00O way O 0 way to the
station 0 O way to improve the finance 0000000000 OOOO0O

gbooobooooobobooon

.reveal 0 exhibit 0000000 reveal 0000000000000 0D0DOO0OOOOO0O0O00O00OO

exhibit 000000000 DODO0O00O0ODOOO0OO0ODODOO0O0ODOOOOOOODOOOOn
goooooooobooooao

0 0O O On this diagram, the measured data points it exhibit a large scatter. [0 O O This diagram
reveals a large scatter of the measured data points.



2.

2.5

indicate 0 O suggest, discuss, argue 000 0000000000000 0O0OOODOOCDOOOODO
0000 (000000000 0UO00OO0)00O00U0O00DU0O0O0OULOO0OOoDUooOOOn
O0O+indicated 000000000 0O0ODOOOOODOOOOO

0 O O These authors indicated that something was wrong with the detector. indicate O [ report,
suggest, argue, insist, 100 00000000O0O0OO

0 0 0O The data indicated that something was wrong with the detector.

. In Figure 2, we show a spectrum corrected for background.

0000000000 000000 correct the spectrum for deadtime O O OO correct DO O OO
spectrum 000 0000000000000 0O0O0O0OO0ODOOO0ODOOO0ODOOO0ODOOOOOOOO
0000000000000 000000D0000OIn Figure 2, we show a spectrum subtracted with
background.

0000000000000 0000000Osubtract 00000 background 000 O spectrum 0
ooooooogoo

0 00O In Figure 2, we show a background-subtracted spectrum. O 0O O 0O In Figure 2, we show a
spectrum from which the background is already subtracted.

.oooboooboobooboobboobob

The power spectrum measured in this experiment is shown in Figure 6.

Figure 6 shows the power spectrum obtained in this experiment.

In Figure 6, we present the power spectrum obtained in this experiment.
ooooodoooo0oDoo0o0oo0o0oooUoUooDoU0oooogooDooooDooooooOog
oo weOOoooooooooooobbooooooooboooooobooboboo
O00000MweO0OO0O0DOOOOO 1/30000000000000000Mwed000000O0
000000000 00ooooDoo0000oooo00oooOoDoooooDooOooooooo
oooooooooooooo

.(04)00000000000000000000O000000O0000O0OUDO0OO0OO0OO0OOO

goooodooooooooobbdooooooooobbobbo b ooooooooooooa
0 [ O 0 The temperature from the present observation turned out to be essentially the same as
that from Jones et al. (2003).

0000000000 DOO0DOODOODODOOdThe present observation has given essentially the same
temperature as Jones et al. (2003).

ooooood

(O 5) We used the Suzaku data observed on 2007 April 8. 00 0000000000000 OOO
000 observed D000 Odata 000 0O Oobserved O O 0O OO acquired, obtained 000000
oooobooobooboobobobobooobooboobooo

oboboobooboobooboobo

. 0000000 (countable) 00000 O (uncountable) 0 0O 0O 0O O O apple, dog, book, car 0 0 O

O000000O00Opeace, love 00 0000000000000 ODODOOODOOOOOOOOOOO
0000000000000 life00000000D0MOOO0MOO (alife, lives)y OO (0OO)
00@moofo00@oomoooooodooo0ooooooooooooooooooo
O00000o000oDoo00oooo0DooooooDooOooos21000000

000 information, behavior, evidence 0 00000 00O OO O an information 0 an evidencel
0000000 informations, bhaviors, evidences 0000000 O0O0O0O0O0OOO0O theODOOOO
O00D00D00O0O0Q0O0OThere are three pieses of evidence. 000000

. 0000000000000 000000O0000O000 sample 00000000 (DO0OOO

O00000)000000000Oalarge sample 0000 Omany samples 100 0000MM OO0
000000 acity with a large population 0000000 O0O0O0OO0OODO O O enlarge the
sample 000 0O0Oincrease 0000000000000 OOOOOODOO samplesO0O00OO0OOO
O O O This statistical study employs two separate samples, one selected from optical database while
the other from X-ray catalogs. The X-ray sample is rather small, but...

.eachO every OODO0D00OO0O00O00O00O0O0O00OIndividual D000

O O O We analyzed data from each measurements.
0O O O We analyzed data from individual measurements.




4. 00000000000 20y0000000O00Ocoordinates 00000000
00O This object is located at Galactic coordinates of (I,b) = (23.°5, —5.°8).

5.oneof .. 00000..0000000000Ooneofthem O0000O0O0Oone of her OO one of him
oooooooooa
000 This is one of the X-ray brightest SNRs in the sky.

6. 02000000000 0Oincreased by a factor of five (0000 5)00a 00000000000
000000000 doubledddOOOODOOOO tripled, I0O0O0OO0O0OO halved OOOOODO
ggogood

7.0 2000000three (0O OO 3) orders of magnitude 00000000000 three orders 00O
0000000000000 000A0DBOOODOODOOODODOO A is larger than B by many
orders of magnitude.

3 Uubuuobogogda

3.1 OuUgoobooogo

l. 00oooobobooboooooooboboboooooobOoboboooooooboOoboOooDn
gboobooobooooboooboooboobooboooobooooboooboooboOobooDbo
goooogo

2. 0000000000000 0000000OLO bbb U000 bOLObOoOLO bbb OoOooOoon
0000000000000 000000000000000D000000 as shown in figure 1 O
0000000000o0UooD ()oooooooooooooo
0000 As presented in figure 1, this function has a simple shape. 0 O O O O The function becomes
negative for z > 10 (figure 1).

3. 000000000000000000000000000the00000000O00O0ODOOOOOO
000 We show this in the figure 1. 0 0 O We show this in the figure on page 3.

4. 00000O0oO0boooboooooooboooboobooooobDobobooboboboooobooo
0000000000000 00000000000000000000000000OPASIOOOx,

T4 8 #, .. 00

5. O0ObOO00O0O0O0bOOoOoOoOobOOobOoOoOoOoboooobOOobOooboOobooOoon
00 (abscissa) DO 0O (ordinate) 0000000000000 0O00O0OO0OOOOOOOOOOO
bobooboooboobooooobooboooooboobooboobooboooOoooooooon
oooooooboobooobooooooooobooobooboooooooooboobooboOoo
gbobooboobooooobooooboboooooboboooobooobooo

6. 000000000 (we)0OODODODOOUOOOOUOODOOODODOOOOODOOOOOOOOOOO
000000000 000000000(@b5) Abstract 0000000000000 OOOOOOO
gbboobOobooooobooooboobooooobooooo

7. (06 0000000CODOOU0OOOUOOOUOOOUOOOODOOUODOOUODOUOOOOO
oO0oo0oo00ooooooooooooooooooDooOoooDooOooooooon
The same as figure *, but obtained in the 2nd observation instead of the first one.
Oo0oo0oooooooooooooooooon

3.2 0OOooooo

1. 0000000000000 (AGN,SNROO)OOOOUOOODODOOUOOODODOUOOOOooooooo
000000000000000000000000000mM 00 An active galactic nucleus (AGN)
is thought to have a size less than cAt, where ¢ is the speed of light, and At is a time scale of its
intensity variation.



3.3

3.4

00000oDoo00000oDoooo0oooooDooo0ooooDoooooooooooooon
000000000 point spread function 0000 O000PSFOOOOODOOODOOODOOO
000000000 This image is consistent with the point spread function (PEF) of the telescope.
00000ooo00opoooooooog«“PSFP ODOD0O0OOO

The observed temperature is kT'=3.3+02keV O O00D0000 AT O0000000O0DODOO0O KT
0000000000000 000O0ODOOdThe observed temperature is 3.3 £ 0.2 keV OO0 0O OO0
0000ooooooooooooo

.pboobodbooboboobboobooboobobobboobooboobboobobooona

ooboobooboooooobooobooobooboobooobooboooboOoboooboooaon
oobob0booooOoboooobobooobooboooobooooboobooogan

ooooooooooobooobooOO0ooOooo0ooooOooooDODOOObOO00O000000O0Fig1O
0000000 Figure 1 0000CyegX-10OOOOOOO Cygnus X-1 00000000000
oboooooobooobooooboo

000 Fig.1 shows a sky chart around this object. (Fig.1 0 Figure 10000) 000 Cyg X-1, the
leading black-hole candidate, .. (Cygnus X-1 000 0) 00O 75 scientists attended the meeting.
(Seventy-five scientists 0 0 0 0)

gobbooodaboo

.000000000000000000 (D0)0D0U00O00O0U0O00O0DO0O0DUOO0OOooOUOoOoOo

obobooobOobooooobobooboobobooobooboooooboooo
U00 0000 m, 000p0 proton 000000000000

000 ooooo «; (:=1,2,.N) 0000000000000 OO0OOOCOOOOO
obo0 NgUOOHODOOOODOOODODOODOOOODODO

$N_{\rm H}$
gooo

TeXOOOOOO ($00C $00)00000000ODO0O0O0OCOOOOOOOOOODOOOOO
gooobooobooboboooobooobboobooboobobboooboobbOobobooDbooo
goboooboooooobooogoo

000 XMM — NewtonOOOOOOODOOOOO

000 XMM-Newton OO00D00O0O00D00OO

0000000000000 D0000o0o0ooo0o0%o0o0oooan
000 10keV, 23mm, 108kg, 7.6 %
000 10 keV, 23 mm, 108 ke, 7.6%

gbobboooobbboood

.OweDOODOODOODOODOODOODOODOODOODOOOweDODOOODOOODOO

000000000 0o00o0ooo0o0D0@™weDO0OO0OODOODOODODOODOOMweO OO
000000000 000000C0Abstract 000000000000 0000ODODOOOMweD
000000o0o000oo0o000oooO00o0ooo000DoOoD000oooO00n0 wed OO
0000000000000000000000000000I(00)00000you0OOOOO
0000000000000 oo0oo0oUI(0D)00000000U0O0DOOOOD. S. L.
Weinberg, ApJ 235. 1078 (1980) 000000000 DO0O0OOU0O0OOOOODOODOOOO
00000000000 000000000000011 0000000 1000 AppendixO 000
O0000ooooo0ooooooo00ooooooo0o0ooooo0oooDoooooooooog
O00000000000000000Weinberg-SalamOO 0000000000000 OSteven
Weinberg 0 0 O 00O

(04 00000000000000000000000000]... () .] 00000000 itis
widely known (see Fig.2)(e.g., Smith et al. 1998).. 00 000000000000 OD0OOOOOO
000 Ot is widely known (see Fig.2 and, e.g., Smith et al. 1998).. D 00000
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3. (04 00000000000000C00O00DO0OO0O0U0O0OO0OOD,MO0000O;MO0O00:m
O000Do.000d0o0oo0oooDoooooooooooon
0 O 0 Figure 10 the measured data, Figure 2 : the model calculation
000000 Figure 10110 the measured data, Figure 20111 the model calculationO0 0 000 OO
ooooooooooooo

4. (O 4) Abstract O Introduction 000000000000 Abstract 0000000000 DO0OOO
000000000000 000O0DO0DO00O00O0000DbOO0ODO0oOonOg Introduction OO
0000000oo00o0oooooo0ooo0ooDoooooooooooooDoooooog
00000000000000 Discussion0 000000000 DOOO0OODOOOOODOOOOODO
o0od0ooUooDooooU0oo0oDO00o00oo0ooUooDoUooDoUooOOooooDooogon
0000000000000 0000000000000D0000000 Abstract 0000 ODO
000000000000 000000O0bO0O0b0000 ksecOODOODODOODOOOODOOODOD
0000000000 A0D0OO0 BOOOOODOODOOODODOODODOOOODoOOoOoDOoOOoOoO
0000000000000 0O00oD@o00ooo0O0ooo0oUoooUooOo(@e DUOoOOd
remarkable, surprising, amazing 0 00000000000 OO0O

5. (O 4) Conclusion (000 Summary) 0000000000000 O00000 Conclusion 0000
000000000000 000 Conclusion0 000000000 DOOOOODOODODOODOOO
0000000000000 00O0DO0DO000bOo0oooooooooogogn Conclusion O
OO00000000D0Conclusiond 000000000000 DOOOOOOOOOOODODOOOODO

6. (05 0000000000000000O0O0ODO0OUO0O0OODO0O0ODOOOUODOOUOOOOO
000000 14th February, August 2011 00 O O 0O OO February 14, 2011 August 0 00 OO0

7.(05)00000 (we)y DOODDODOO0OD0OO0DO0OO00OO0DOO0OOO0OO0DOOOO one (From these con-
siderations, one can conclude that... 00 )O0OO0OO00O0O

8. (0 5)00UOO0OOOUCOOO0OOULOCOOO0OODULOCOOOOD0OLDODOOOUOUDODOOOOODODOO
gddooddooooooodobooobooodoboooboooobooooooouoboon
0000000000000 000PASJIOOOOOO0OOOO0OO
0 0 O The data are not affected by dead time(s).

0 O O The data do not need dead-time corrections.

9. (06) 000000000000 DO00OOO0ODONO This problem will be considered in §5. O
00o00o00ooooooogooooooooooooooooDooOoOoOOooODOOOOOoOoOOooOo
O0000000000oDoooooooDoDoO0O000OOwil 0000000000 Further details
of the analysis will be described elsewhere. 0 [
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